5 1 TIATR)

Worksheet-1 fugst anra €t gaoTet AT - gt

N

(Revision Of Previous Class)
ffuymrat fog qg T @31 Afun™ 831 Find the largest number from the following:
3687, 3688, 3876, 3867, 3786 3IR]76
Aftmrret fog mg 3 @2t Aftonm u3T &d| Find the smallest number from the following
1023, 1203, 2103, 1013, 1103, 1301 1013
1.2, 4T 6 T ¥ B AT &t Al u3T &3 |
Find the smallest number that can be made using the digits 1, 2, 4 and 6.
5,8,7 M3 9 3 g TV AF I T3 Al uIT 4|
Find the largest number that can be made using the digits 5, 8, 7 and 9.
Wt 5, 6 w3 8 T faught Afiprret g Raei I fAR feg get 21 d SuT &7 F3f I A=
Numbers which can be made using 5, 6 and 8 such that no digit is repeated.

568, 586, 658, 635, 856, 865

7o fot oaa AT & 2w o f&9 f&H| Write each of the following group in ascending order.
(i) 2354, 3425, 2435, 2524, 2358 2354,2358,2435, 2524, 3425
(if) 15263, 16235, 15326, 15236, 16253 15236, 15263, 15326, 16235, 16253
(iii) 2876, 2768, 2687, 2678, 2786 2678, 268F, 2768, R78E, 28T 6
(iv) 34576, 36258, 37268, 36528, 35826 ~ 34576,35852€,36258,36528,37.248
5 {8 greses U3T J3|
Find the following product.
i 73 (i) 89 (i) 272 (iv) 197
x 46 x 83 x 96 x 57

438 267 (632 1379
292 X TI2X 2448 x 985 x

3358 387 2112 223
J5 fou e g9res u3T J4 |
Divide the following :
(i)807 = 9 (i) 782 + 7 (iii) 576 + 24 (iv) 869 =+ 22

8 [11 2 3
q [ &% 1182 24 [87¢ 22[ 8¢9

a2 i _48 64
m % 309

8l 198
6 7 ~ NEE

— : 5 9id) AR IR

‘\1 §l‘l m\
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9, ufg@bat 5 fars Aftmret fgg 3 €ot @ 73 &3 1 Write first five even number and add them.

qfafter s PAs Hhpmei = 2,4, 6,8, 10
Wiz 24U46+8+)p = 30

10. 3 #at & Ag 3 T3 fana Afwenr f5@1 Write the largest 3 digit even number.

998

1. 72 ufa® & I f&’ | Write first 6 multiples of number 7.

7,14, 21,28,35,42

12. 97856 € f<F 7 ¥ meaa WS {581 Write place value of number 7 in 97856.

‘F00D
13. € 4 cm $u ey Fus 576 Draw 2 4 em long line segment.

P

a
-—v

14. f€92.5 cm woyu femm <" 9 dd ¥ | Draw a circle of radius 2.5 cm.

L ) _ -

15. I3 ot ife(fat & &0 {81 Write the name of the following figures.

J L

& 3 ‘ PR3
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e Eh TIRR)
Worksheet-2 mruEht Afunr=t § ATEsT S - 8=l

(Knowing Our Numbers)

1. Is 3 Ao R AZ 3 22t ®ftm 3 g ®an@ | Circle the smallest number.

(i) 4536, 4892,(43707) 4452 (i) 25280,25245,25270(25210)

2. 5 f3 AHg B9 As 3 IS Aftmr 3 i ®arg | Circle the greatest number.

(i) 1473, 100, 5000, 310 (i) 2853, 7091, 9999,124

3. () 53T TG T8 9,7.4,1 vixt & 29T q9T T I i A mg ¥ 2t #mr w261 JHET.

Without repeating the digits, Write the smallest number with four digits. ................

Without repeating the digits, Write the greatest number with four digits. ................

a. feost 939 & fimms &% AHSE BUIS Jo o AR @ 839 feb

Observe the following figure & then answer the following questions.

3 X

IHIIIH (RamRahim) 3% (Dolly) HI& (Mohan) HHT (Shami)

(160 AH) (154 AH) (158 AH) (159 HH)

(i) feost f&9° Az 3 &9 &= I? Who is the tallest? Ef’m‘diﬂ"l

(i) feuat f&9° A8 3 87 A& I?Who is the shortest?

(iii) Soat it Sareti <ue qu &9 fsd1__ 154, 158,159, 160
Write their heights in ascending order.

(iv) Bgat St Sareinit wew gy & fsd1__ 6o, 159, IS8, 154
Write their heights in descending order.

5. TBH A w3 B T e &9 | (Match columns A and B.)

FTEH A (THE Hftmim nid) T B (fde »adt At via)
Column A (Roman Numerals) Column B (Hindu Arabic Numerals)
X J 000

6. J5 fufimrt Hftmrt &5 €R Bitmr I do BarS 7 gast Bt Sus yew &9 eanTet argt I
Circle the number which is written in Indian number system. .
(i) 78,921,092 W (iii) 9,84,32,70 (iv) 99,985,102

7. fToadtaas gt &3 <t Toret 3 view ks Quds TR |

Estimate to the nearest tens by rounding off. [259]260261[ 262 263] 264] 265] 266] 267] 268] 269] 270] 271] 272

(i) u3T a9 fa fagz $5 270 &t 3I%a" 29 260 ¥ farer &F 75|
Find which flags are closer to 260 as compare to 270 ;
(i) U &9 X foaF 3 260 & IvoT 7 270 T e 35 951 C B3 D

Find which flag are closer to 270 as compare to 260
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(a) IHB U_E‘?ﬂ f&g T9FS 1 (Write in Roman system.)
(1 22= XXII (an 40=_XL
(b) faT waIst yam &9 TIR'E | (Write in Hindu Arabic system. )
()yLxv=_85 yxix=_69
9. (a) FEITN. 3 NE 32 g A, f&39 (Fig) | HE ltem Jz f®Azg Rate list
| fXSTH K39, 2 W 03 B e weteer
I3t 8 3 oo st T s § ot uwat | ( ﬁ‘
c D, hacee o ss. | ke oranges, N ‘. ) ' |
If Ram purchases 2 kgapples, lkg oranges % T .
O

8.

A9 Apple 40 y=t f@ g (per kg)

2 combs, and 1 cake of'soap from Raman's
shop, how much money Ram has to pay to F39 Orange| 30 guE yt fa® (per kg)
Raman? -
(b) 3T TH. IHE 3 200 JuUT Eer J 3T IHa o REE Soap
B & X8 JUT SUR FIaT' |
If Ram gives Rs.200 note to Raman, how

0 pY- !
much money Ram will get back? (b) gJHA -—f f‘gg"é?,{g = 26D
@ 3 P39 = 40Xz 80 TE SapmdAhE = |2y
| PRa™ H33 = = 30 RIE '3 -

- E'L! =
2 ax3 = 6 BT > 76
. 76 gue

| AT -
ghHI8 <= QY gy

8 guE T f&a (Rs 8/- each)

V)

T

v

10. ¥ <3 9935 B9 4 &led 500 H.&H. Tt T125 1. & T3 AHge @& 38 oA o7 &% 59 &
AST J6 |
A big bowl contains 4 litre and 500 ml curd. How many glasses having capacity of 25 ml can be filled
with this curd?

R e I <
| s = om0 s memen/

'té-_'% B3z5 Te= TH=- Yooo+500= LS00 Py 59 ihs
ITRTH T = 25 P s ’SJgs‘Eo
AR &) Sffepey- E3TII3 BB R . usooBustl: = goummr | B0

. IRTH F} 25
11.w3?ﬁgeaﬂfém¥§ﬁgnﬁa?ﬁfuwrﬁaq§;ﬂja%mﬁl S
Write the time shown by clocks in Hindu Arabic System. - L
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worksheet-3

'}}%{ z‘?}f HIJATR)
y3s Afunret

Wy - gt

(Whole Numbers)

1. AR 85 I v »i3 I3 JEs 3 x o faps sarG 1 (Put v for true and x for false statement.)
(n 1 fex A I 221 uas Riton J1(1 s the smallest whole Number.)

() 0 73 F &3 yfssa Afmi J1(0is the smallest

()
(IV) 5
(V)

N S

2. Fftmy 3y & 93 9T T Io
Solve the following sum using Number line.

50 ©F fu2sg wid 49 J1(49 is the predecessor of 50.)

Natural Number.)

600 HpHT 599 Tt nidrsT At 31(600 is the successor of 599.)

o8 AT 08 JJ |

(1) 3+4 ——t—t——1—T f |
0 23456@391011121314
(,,)7_5<.':W:=::':;%=
0 1@34567891011121314
! 2 3 T
“”) 4x3 <« T T T T T T T T 1 1 T 1 » 3 Numbesd 4 MJUJH’
0 1 2 3 45 6 7 8 9 1011 13 14
3. ¥3= gH 'S §F UST &S| Find the sum by suitable rearrangement.
(1) 234+197+103 (1) 2+4998+13
= 234+ (197T7+103) = (2+998) +13
=234+ 36D = |ovo +13
= 534 = lol>3

4. 5= gH 5’0 TTHSS UST AJ | Find the product
(1) 4x166%x25

= 166 % (25XY)

- =166 XloD
= |§4o0

by suitable rearrangement.
(1) 8x1769x125

= IT76qx(125%8)

= | 769 % 1000
= |T7690006

5. €2 gIF <93¢ J¢ dI&ne® UST &9 Find the product by using suitable properties

(1) 1005x168
= (lOOO‘f‘S) X168
= lobox 169 + 5XI168
= |68600 + 4O

_ = le8sko
6. U5 fesnr § T8 (Match the following)

(1) 425%136 = 425%(6+30+100
(1) 2x49x50 = 2x50x49

(1) 12x35
- (lot+2) x35
- lox3s + AX3S

- 350 +7T0
Hao

et qH I2TEdT dIE (Commutativity under multiplicaﬁon)
BT gH TTETT

(Commutativity under addition)

(111) 80+2005+20 = 8042042005 ‘Az €3 315 T fe3TE (Distributivity of Multiplication over addition)
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5 fox A B A ds 99 9 g T U T HE 20 F M3 EUE wet 4 g: 31 305 fent (79 feget i

3 flat y9g F9di?
The School canteen charges Rs. 20 for lunch &Rs.

onthese things? ’?_LFFTC') 2 %TQ‘ 1 YR = K0 g
<3 < ¥d8 = M d:

PR Por =1 IR AT = 9y I
g fer1 @1 AIB = JAUXS= lélo@’qt)

4 for milk for each day. How much do you spend in 5 days

8. ﬁﬁ%aﬂ?weﬁﬁ%nmﬁﬁéﬂﬁws%ﬁﬁgﬁmﬁ 40 Heg Dedw gaerten | fes 8Re
Tt feo 100 Sreg des® s I7ad Ueds ¥ HS 50 9 @Tﬁﬁﬁ%?@ﬂﬁﬁeﬁﬁ’%aﬁs%
yIg 37|
Taxi driver filled his car petrol tank with 40 liters of petrol on Monda
100 liters of petrol. if the petrol costs Rs. 50 per liters. How much did he spendinall on petrol?

o 2 SITTRem AEIR = L0 %Ted

y. The next day he filled the tank with

| s USS% =1 g S0 FUE )
7000 <

) lqo)ﬁg% v w1 = 1o RSO =
9. f&3 &Hd = 595 foF ® nEr® € uT f&5 | (Study and complete the pattern)

1x8+1 _9
12x8+2 ' =98
123x8+3 S =987
1234x8+4 S =9876
12345x8+K = 98765

123456 x&+6  =QQ765Y

|23YS67x8+F . =98765Y43

10, fe39= g= & <93 FI& HS UST &9 | (Using Distributive property, Find the value of the following)

(a) 728 X 101 : _ | (b) 4275 X 125

~T289x%x (loo+l) . . = 4275 % (100+5)
=128 Xloo + 728X - =Yy27Sx100 +UATE XS
=72800+ 728 . = 437500 106875

5T o 3528 = 534375

11. € nifiidinit et fod frgh § fEx =90 € gu e weAtenT 7 Aaer J18egee: 4 § fer 39
SIATENT AT AdET J-e . B, ) )
Give two numbers which can be represented as squares? e.g 4 can be represented as-. ¢
12.%%#&»@%&%&%&@3% o Berg9s: 6 &
4 U &9 Tarfen A7 Axer : '
TOATENT AT AET O- 500 ATee | B e '65%?3?

Give two numbers which can be represented as rectangles ? e.g 6 can be represented as: 2% or «+

Q= oiw.. |o = ;ﬂ
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Yo S FIATS]
Afynret T 43T g - 8=

(Playing With Numbers)

1. Jo f&ftmit @ gresds g8 1 (Write all the factors of following.)
(a) 12 (b) 8
1,2,3,4,6,12 1,2,4,8
5 fefimr & ufa® ©-¢ e U1 (Write the first two multiples of following.)
a 7.14,21 (b) 14,28 U2 (c) 9,18 ,2F

3. faghr gehit Aftmret fed” »ig™ Aftmiet §3 JigT &arg | (Circle the prime numbers.)
(a)@ (b) 9 ©(@) (d)@ (e) 15
&t et Bftmret fog' 3 Aftmret €3 i & | (Circle the composite numbers.)

@(%) (b) 7 (c)@ (d) @ e) 5

Adt FEaT 83 (v) M3 IB3 JEat 83 (%) T fds &g |

Mark (v') on true statement (%) on false statement.

(a) 3 A8 3 22 2& midw Bt J1 (3 in the smallest odd prime Number.)
(b) 63 & miz™H At T1(63 is a prime Number.) X

(c) 12 X gia Afemm T1(12is a odd Number.) X
(d) At nig™ Hitmitet 2ig J&nr 51 (All the prime Numbers are odd.) X

(e) AT faR3 Aftmiet g JEit T | (All the even Numbers are composite.) X
(f) 1 f8x nig™= At J1(1is a prime Number.) D4
6 2LE

6. nreIH Aftmiet gt € Gergdat o€ Give two examples of perfect Numbers.
Petfect Number A8 Q. Fosittare imtegesn that equall tosum op A4S AUALiAOHL (emcept-
7. Jo fofimit feg* faadhrt Aftmret 3 516 Yot 397 3701 § AEm I5 | ~ wg,e,%-)

Determine which of the following Numbers are divisible by 3.
‘(@) 123 (b) 336 (c) 127 (d) 59
‘ ' EN|

i i |
8. 5 ffimit € A3 gE64s UST ad | (Find the common factors of following.)
(b) 12, 16 »i3 18

Worksheet-4

I )

(@ 4m3 15 _
H= 1,24 2= 1,%,3,4,6, [
5= 1,3,5,15 6= 1,2,4,8, 16

~ 18~ 1,23,6,9,18

AR sz - |
- | 7 TR ), 2
9, JEAYUS I LJ‘EF 9| (Complete the factor trée.
| 0
(a) /60 N (b) f g
10 \ 30 -,
/, 3

6
/\E 51 10
2 . o i)
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10. J& fsftmit © H. C. F. U3T &4 | (Find the H. C. F. of the following Numbers.)

[a =

(a) 24 03 30 (b) 18 23 60
Lagy s,
60 =\
H.CF- &xﬁlx& leL HCF= AX3 =
(c) 9, 112, 49 (d) I\ 54, 8l
Q- 3IXK3IXN
- Q_,X&X:QXQX—/)N 5[_{ 2
nq - TXTXI ><3
H-CF= | H C F= 3RX3 =
11. Jo &3 Afanrt feg' fags 73 Afo-w3_T& | (Which of the foIIowmg are co-prime Numbers.)
(@) (b) (9, 12) (_c)a (d) (15, 45)
12. 9&t f&3 d@fsw ¥ L.C.M. U3 &9 | (Find the L.C.M. of the following Numbers.)
(@) 6,9 (b) 15,18
216-9 9 }15-18
313-9 L-C-M= 2x3x3 3‘!;[5-9 L.C.M= 9X3R3RS
3/1-3 - |8 i__ss—_,?,_ - 90
F=] s|5-
e
(c) 20, 25, 30 (d) 12, 16, 24, 36 i_{?_:)_é_f_'—{:ié
3| 20-25-30 2l6-g-a1g
I[10-4S-1S ¢ c.m- _ LCM = 3xaxayaxis & I-u-6-9
3/ S5-as-1s T DB RS N A2 3 13-2-3-9
5| 5-3s5-5 :35'0 ) - L{LI 3 3_,’,.3_?
= o 3/ T-1-1-3
13. 979 hidl @Uﬂg?g—c“rnﬁwwwms 24773 32 5% 391 I | [ T=1=T=]
Find the smallest 4-digit number which is exactly divisible by 18 24and 32.
2[13-2Y-32 3] %-3- ;;83:' 356’
q-12-16 3-1—/ L-CMz X8 2=
}%:"":5_"3—'—’ R T KAXAXAXI K3IX3 |2ggxz= 86Y
_L___ : |—1-) . =2 n -
Xq-3-4 =288 3874‘1 1158
2 ‘5'3 2 238 ’%bﬂlg’,lqéa’p_m?mf?)y iﬁ
S 3 ' 'Y e W@@%@"”ﬁy

A9 met 3o fenest foe 28 U9 87 3 9% HY 9 6| Bt © qent =t

14, A=Y
R, 85 FH »3 90 AH 75 | fedaat fed” o9 foBasH folal Tt 98 fo 8o 8 & yd-yd amnt fde 3nf

I35 1In a morning walk three person step off together their steps measure 80 cm, 85 cm & 90 cm

respectively. What is the minimum distance each should walk so that all can cover the same

complete number of steps.

distance in

21 80-85-90 17y 1=17-1
2 [ ho-3s-us [—1—] L-C/M 2> IXARARIABRIRS X) 2
? | 20-8s-4s - |
3 | lo-8s—g< T 122boom
3[ S-85 -Ug
3] s—gs—IS
] &-95—5
=177 -1
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P P TFATS

Worksheet-7 Ayes Afemret g - g<t
(Integers)
1. 35 msﬁfﬁm? 3 Hfu"g* g TIAE | (Indicate the following numbers on number line -5,0,2,-3
+——T SFTTD T T >
-6 -5 -4 Sg 221 01 2 3 4 5 6

2. Jo fafimrt @@ f&d | (Write the opposites of following.)
(a) T 500 &F (T 500 profit) (b) 50 fa.Ht, yg= ¥ (50 k.m. towards East)

7 Sco ] (T 500 Lokd) so ). 2@+ €% (50 K m towmds esf)
3. o fou Afmt fegarg A Augs Aftmiret fisd |

Write all the integers between the following pair of numbers.
(a) -2 m3 0(-2and 0) (b) 23 5 (2and>5) (c) -4 M3 -2 (-4 and -2)

—1 3/L' =2

4. fooF xgs AY I w3 XT3 35 7 (Which of the following statement is true and which is false.)
(a) AZ T &<t foezH=x H'er?i Hftmr -1 J1(-1 is the smallest mteger) X
(b) -2, 0 ¥ ¥F uH AfEs T (Fftmim JuT 3) (On number line -2 is situated to the left side of no. 0) V"~
5. 13 ¥ A33HI 8FegH & I? (What is the additive inverse of 13?) _— I3
6. Himr Jur T yUidr F9a G Hitmr uzT a9 7 3 37 4 We I
Using number line find the number which is 4 Ies§ than 3.

Y YV .
- —| P

I T I v

7. >,<%© qzﬁa'r I TGO &J | (Compare using >,< sign)

(a)1>_0 (b)-2 < 5 ()12 £ 17 (d)-a £ -2
8. F=e® usT &9 | (Find the sum of following numbers.)
(a) 120, -250 (b) -20, 20 (c) 125, -67
|20 + (=250) -20120 JR5+(-6F)
)20-250 =0 J25-6"F
- —-130D = 58 _iﬁ_r_ﬁ_
9. w=G / Subtract I 3?'2'1 A
(a) 20-(17) (b) 15-(-2) (c) -15-(4) (d)-27 -(-2)
R0-17F -I1S+2 -15-4 —R7+2
-3 = =15 - -19 S
10. >,< 7 = ¥ fsms & & wdh @<t 39| (Fill in blanks using >,< or =)
(a) (-20) - (-10) > _(-15)- (5) (b) (-11)-(2) < (3)-(7)

-|-2 ___-3+F

—R0+I0 _ -15-5
3 Z oy

-jo 2 -R0
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11. 79E® UST &G | (Find the sum of following numbers.)

(a) (-6), (-4) & 15
~6+(-4) IS
—6-4+1S

—|0+4]5 = S A4

(c) (-50), (-200) & 300

- So+(~Roo) +3060
—5p-R001+ 300

—250+36D = 5D fhy

(b) (-312), (39) & (192)

—3124394 19X
—3)R R3]
= = 81 MMy

(b) (136), (-212) & (192)

136+ (-212)4192
|36 -2124192
3I28-2A1L
- |6 AnA

12, Aftmf Iy T YUiar J9d 98, W& U3T &9 | (Using Number line, find the value of )

(-3)46... 70 3... 004

PR S LT S

o [l
T |

13. Rftpm JuT B YUdr J9 98 HE UST &9 | (Using Number line , find the value of )

14, Ao a'bF T 293 oi3 fagt HFe® UsT &9 (find the sum without using number line.)

(a) (-225)+(100)
—225+16D
— —|25 A

(c) (-316)+ (-10)+ (136) -
~ 3|6 —lo +136
—326+136

- 196 AP

15. §& U™ & / Find the Value of
(a) (-7) - 4- (-6)
-T-4+6
=11+6
- =S AU
(c) (-11) - 8-(-12) +(-3)
—I-8 +I2 —3
-2 412
S

-

(b) (-150) + (-25)
—|SD -5

= -175 A

(d) (312) +(-50) + (-62)
31R-50 -62
312-1)12

= 200 A

(b) 50-(-20) -(-6)
so+20+6

~T76 Ay

(d) (37) +(-2) +(-65) - (-8)
37-2 6518
Us 67
z - ,Zﬁ,ﬁ”_ﬁ
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g EH TIRTH
Worksheet-8 formt I - 8=l

(Fractions)

1. 3 T »ig »3 g9 TR | (What is numerator and denominator of fraction %?)
wiE (Numerator) =__3 I (Denominator) =L

2. f85 B Aftprt I 7 fE&HIA T 3mar TIART | (Fraction is a number which depicts part of a Lc’lfxo&a,

3. fox f§5 fon fivAe" WiF 5 M3 T9 9 2| (Write a fraction whose numerator is 5 and denominator is 9.)
5

—

[al (a) n . q . I
4. "~ Ef?‘ﬁ 3 furas o 199 fod Fae ot P9 4raction can be written as mixed fraction.)

5. faxadt 8 35T 37 %ﬂ* % (Which fracg'on:_;s bigger Sord )

3 8
Ho » 9 S €19 a
6. f&3t det fgs € nigA™S, 3 § -nif&3 &9 | (Shade the diagram according to the given fraction.)
(a) % | (b) Z/’ % (c) %%é %
7
Y %/%//%
7. 5 A3 & file &t faast f8& I?/What fraction represent 5 seconds of one minute. 5—5;5 = —’!—2"
8. Jo feditnrt fda7 & fmas gu 9 yare 9 | (Express the following fractions into mixed fractions.)
19 . 25 47 - 1=
@ -.. 2...7.... (b) 2 “"/
9. Jo faitnit B gt (et f3w) 37 Bt fd |
Write the equivalent fractions of following fractions (Any three)
@) 2=4.6.,.8 ) 3=6,1 1
7 T’ 217 28 ; 5 175720
10. AIS3H U &9 T€& | (Write in simplest form)
(@) 12 =0 ... (b) 5.3 .
62 3| 8 %
11, > <At =T f5Hs TIUcS (Put the symbol >,< or = in the following.)
5 13 '
@ 73 LB 55 . @2 [%] 0
g o U 08 %
12, J® dJ/Solve :
8,13 21 _ 17 5 _1
@ 157 1 (b) 35 7 35 (S
8H3 . 21 _F pu 2A-17 _ 4. 2 SR9— %6
s s 5 — zo0 30 IS ex 1
us-4 = 39 A
Sy Sy
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13.

m%m@;—

famim?
Aman gives 1/2 part of choclate to Harpreet and :13— part to Harman what is the total part of choclate he

‘g‘&’Eﬁ?Eﬂﬁ??_jM?%‘ < IIHE § 37 B0t & wrase v o folar fmr iz

gives both of them. ey A
gndk 3 Pem Tz L st feet
z o

i 327 - - Japd -
i P s L o 3+2 _ s
6 "6

14, %%3@@3%@6{%%{%1 (Find the equivalents fraction to -g—whose.)
(a) i 15 I (Numeratoris 15) (b) TT 45 = | (Denominator is 45)
3x8 - % |5 ixi - 2%
S*% © 25 SR 45
15. [ |feo Aot Biftmr fisd ) (Write the correct nointhe box.)
2 _15 - 13 -
(a) 60. (b) o1 - 140
16. Jo' fEdmit {957 & AIw3H T i< 888 | (Reduce the following fractions to simplest form)
48 15 84 12
(a)éﬁ (b)s_o (c) % (d)52
Bytiy _ ¢ | 1RFY. I
— 827y |3

|55IS - 1 -
Yy 8=y T

wgin, 4 | LS
60512 S o5

17. Fftmr Jur i w13 Jot ferdbart fEa1 $ fig qu 9 TIR8 | (Draw number line and locate the points onit)

4

i) 2 3 8,
5 5 5

cn]oo
XY
)

i
N

N\
0L
0"\IIL"

PYEN
7]
)%
n)-o

2)]

oo -
(v ™)
[e 1A
oo jC
®|n
og|o>
ool ‘
oo]oa' =
N .
ol
|~
IS
0w

18. :1,’—2 o 80 3% 85 U3t a9 fiATT 99 7 9= | (Find the equivalent fraction of ;—g with denominator7.)

3

JsE5"
3525 F
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Worksheet-9

g 2 TFATS)
TEE g -8

(Decimals)

1. 35 faftmit 3 TAHET U I8 5EF | Convert each of the following into decimals.

5 75 4 1£2 .8 6.8
1 - N _ = . —_— = . _— = 2 -
@)% = 0 b) 52295 (afg =75 W+ = 57,
2. Iz fafamit Aftre’ & AETsa Y& Aot T fafimr famr 31 ferm fifg wet gt 33
The following numbers are written in the place value table. Fill in the blanks.
(1) (ii)
— N gy p— Het Rt | wgst | fearet | oret Het
Number Te(r)\s O(r:tis Tenths | Hundredths Number T(legs 0(";8)5 TenlthS Hundredths
(10) 1 1 (10) 1 1
G | G (1g) ({00
205 | 2 0 - O 3555 | 3 5 S i
4.2 0 4 9 So 1542 | 1 S5 4 2
50.03| s 0 0 3 43.25 | 4 3 2 5

3. fég?ﬁe”rﬁfuw%ﬁréﬁfam,s,c,o fégnit & ervEe At i

Write the decimal number represented by the points A, B, C, D on the given number line.

] o 5.5 7-5
A B \ C GP
PR EEEEENE NN sMe vy sy (VI EREEN] IEENEEEENENE RERER] EESENEEENN'ESENE BENEERREE] AR AR | >
D EEE Ry DT T Ty Tt |IBEERIVEE e LI B o e e e | p—
0 1 2 3 4 5 6 7 8

4. Jo 58 eRHSET § Aftom 3uT 3 T9AG | (Show the following number on the number line.)

(a) 2.

2

(c) 1.5 (d) 4.6 P pT

(b) 3.7 ;
e &2 27 Yag o R IR
N aarst s Y T TEETER TTETT TR UTITS T » IS 2%
0 1 2 3 4 5 ?'UOrp);-)’
5. I5 ot fog” g9 % THH®T gU f¥9 f&d | (Write each of the following into decimal form.)
i - 235v2 i g = *
*oo0 T ‘7 (b) 23+ 10 1000 ~ <3.206

2
(@) 200 + 30 + 5+1—O

6. %Wﬁmmm§wmm§uﬁvf&s&|

Complete the table with the help of these boxes and use decimals form to write the number.

(i)

XIX

XK

>

XD

<P

X
X

<P

@)

X XX

XIX

X
X
X

X
X
X
X

DD

XIX
XX
XIX
XX

DXL

Ones Tenths | Hundredths|Number

2 3 -3 38
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7. TEHST ©F YHdl JIQ I fSfmit 8 Ug are U ST 95 | Write the following into decimal form
(a) 3 UR 3 quT 9

(2= L 3
5 Paise as rupees 5..}‘:}-..)%0:0-05?/?
(b) 6 At & Mies s 134> L Sl
6 cm as meter 6xfz.... ,50:005’ﬁ
(c) 70 fxt. 5 Ht. @ . Hieg 9 | =>f= ,-chf’?-’>ﬁ > 53- %U—D“’ﬁ?.'w‘f
70 km 5 m as k.m. ..../.Q.rf.‘..%v% 705005 Fo:>f1
(d)2 I 3 . T <9 L= Lo fery
2 gram as kg. 2 A a7 02002 Bo: 27
8. Jo fftant Ritmiet § A3 &S| (Find the sum in each of t'r?erf%llowmg ) 26.25 00
(2) 0.1 +1.0un T o (c) 0.475 +0.23.......Q.710.5....... ©0.2525
(b) 0.35 +0.47......Q:82........ " (d) 25.25 +0.2525...25: 5025 25:50%25
79 'EJE fSftmit 3§ weg| (Subtract each of the following.)
-4 (a)84f 25.2.5:9..... (b)9.756 - 6.79.....2:96.6
=25 9.756
5:9 59 6-790
~2.986
10 rﬁswmﬁ&we*g"ﬁ#%guﬁgfa?amguﬁgfsﬁl
Write the following decimals as fractions Reduce the fractions to lowest term
()21.02.2.2102 = [oS] (I 1.0....=.10 <. L. (1) 0.06...2.6.. 5.2
. 80 | 0D SO
11. J5 fBftmit Afanr o5 S5t Aftmr § I S8 | (Cer|e the greater number.)
(a) 17 0.9=.......&E /...

(b) 257025 ... 23D ..
(b) 2477 24.0 = (d) 0.507750.0=.......

12. 759 3¢ & 500 H 1, 250 grH T fligg, 700 IrH fimim, 500 M eHTEd, 100 IH MEdd
nésooapﬂmmaf@n%%ﬁ%mﬁamml

Nandu bought 500g Potatoes, 250g Capsicum, 700g Onions, 500g ginger and 300g Radish. What is the
total weight of vegetables he bought g =

g = 500 T 1 5ar= _Lﬁeqm

. . RSO
.Fmgﬁ?_’ 760 23@%1 235_0 &’a;)-y
oygrez . = SO “fovo
2w

300 ) = D 350%’25'77
Trrc[v 50
13. Ifer € Hf & BAS 10.50 G. ﬂ—:'a'msfﬁm% z?"es' <l
3% fdo 9. 591

7 235’127%
J HHH@HHSSOH Yo &9 fe3 37 8R

Radhika's mother give her ¥ 10.50 and her father give her ¥ 15.80 she spend ¥5.50 from this Amount
Find the balance Amount left with Radhika

I3 '27'0(9‘7 R6-320
"-‘17'31'2 79?"3' - ]0o-5SO 3-' ';/WVQGB“/ 55D
—~ = .80 ¢ —
>z i 02-6‘30

-
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